
1-10 90 80 70 60 50 40 30 20 10 0

1)

14.5

2)

26

3)

14

4)

20

5)

4

6)

13.5

7)

0.5

8)

3

9)

30

10)

7.5

1. 91,11 cm

2. 81,68 cm

3. 43,98 cm

4. 62,83 cm

5. 25,13 cm

6. 84,82 cm

7. 3,14 cm

8. 9,42 cm

9. 94,25 cm

10. 47,12 cm

     

Berechne jeden Kreisumfang. Die Kreise sind nicht maßstäblich.
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Lösungsschlüssel

1-10 90 80 70 60 50 40 30 20 10 0

1)

14.5

2)

26

3)

14

4)

20

5)

4

6)

13.5

7)

0.5

8)

3

9)

30

10)

7.5

1. 91,11 cm

2. 81,68 cm

3. 43,98 cm

4. 62,83 cm

5. 25,13 cm

6. 84,82 cm

7. 3,14 cm

8. 9,42 cm

9. 94,25 cm

10. 47,12 cm

     

Berechne jeden Kreisumfang. Die Kreise sind nicht maßstäblich.
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Geändert 1-10 90 80 70 60 50 40 30 20 10 0

1)

14.5

2)

26

3)

14

4)

20

5)

4

6)

13.5

7)

0.5

8)

3

9)

30

10)

7.5

84,82 cm 81,68 cm 9,42 cm 94,25 cm 47,12 cm

43,98 cm 91,11 cm 3,14 cm 62,83 cm 25,13 cm

1.

2.

3.

4.

5.

6.

7.

8.

9.

10.

     

Berechne jeden Kreisumfang. Die Kreise sind nicht maßstäblich.
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